YDAK SHEEREU 2 — SNRIEFRELDAY
CEAEZRSAR] (KER)
(MBI LFEE)

(M CAPOX &%
13—X:21 B8R
HRIAEY (RNR) 1000mg/m?/@l 1B 2ME 2~158H
AFmEE 1 EHE
1. 36m?k i 1200mg/ =]
1. 36m?LLE ~1. 66m>k i 1500mg/[=]
1. 66m?LLE ~1. 96m?k i 1800mg/[=]
1.96m?LL E 2100mg/[g]
x4 TS5F 2 (Hi#E  130mg/m? 188

@ Capecitabine &% (B i%)

13—X:21 BfF
ARTEE D (HR) 1200mg/m*/El 1 H2@E 1~14HEB
. EACEE 1 BIAE
1. 33m*R i 1500mg/[B]
1.33m*Lh £ ~1. 5T K i 1800mg/[a]
1.57m* Ll £ ~1. 81m* K i 2100mg/[E]
1.81m* Ll £ 2400mg/[E]

B UFT+LV 3%
1a3—x:35 B

THI7—IL/2F2IVEEHI(NAR) 100mg/m/E 183ME 1~28HH

AR mEE 1 BRE
<1.17 m? 300mg/ B (4~8i - 100mg/4-1% : 100mg/ 7 [ - 100mg)
1. 17m?*~1. 49m? 400mg/ B (4-Hi1: 200mg/ 4% : 100mg/ 7% & : 100mg)

500mg/ B (4~i1:200mg /4% : 200mg/#& fs : 100mg)
600mg/ B (4-Hi1: 200mg/ 41 : 200mg/ 7 5 : 200mg)

1. 50m*~1. 83m?
>1. 83m?

R F— b~ (AR 25mg/E 1HB3E 1~28HE



@ S-1#&%
1a2—X:42 BME

FHI—=IL/XASUII/ATSVILAYSYLEEE (FNIR) 40~60mg/[E
1HB2@E 1~28HH

AxmiE 1EA=s
1. 25m’ K it 40mg/[a]
1.25m* Ll E~1.5 m*RiE 50mg/[E]

1.5m Lk 60mg /5]



(RMBE)
(D CAPOX+BEV #& ;%
13—X:21 B

ARTEEY (HAR) 1000mg/m*/El 1 H2@E 2~15HH

ARmiE 1 ERAE
1. 36m’ K i 1200mg/ =]
1. 36m* LAk ~1. 66m’3k i 1500mg/[=]
1. 66m* LA E ~1. 96m’3k i 1800mg/[=]
1. 96m*LL E 2100mg/[g]
X4 TS5F 2 (EE) 130mg/m? 18H
RIS R T (A 7. 5mg/ke 1 BH

@ SOX+BEV &%
13—X:21 B

THI=IW/XAZDII/ATINAY) 0 LEEH (KR 40~60mg/[E

1H2@E 2~158BH

AxmiE 1EA=

1. 25m’ K it 40mg/[a]

1.25m* Ll E~1.5 m*RiE 50mg/[E]

1.5m Lk 60mg/ 5]
x4 TS5F (Hi#E  130mg/m? 188
AN T (A 7. 5mg/ke 1HH

@ IRIS+BEV #&i% (S-1+IRI+BEV)
13—X:21 B

FHI—=IV/XASUI/ATSVILAY D LEEHE (RIR) 40~60mg/[E]

1TH2@E 2~15B8BH

A=miE 1 EA=E

1. 25m’ K it 40mg/[a]

1.25m* Ll E~1.5 m*Ri 50mg/[E]

1.5m Lk 60mg /5]
A1)/ THh(EHE 150mg/m? 18H
AN X7 T (i) 7. 5mg/kg 188



@ Cape+BEV &%
1a2—X:21 BfE

ARTEEY (RAR) 1000mg/m*/El 1 H2@E 2~15HE

AREE | BAE
1. 36m*K i 1200mg/[a]
1. 36m?LL £ ~1. 66m>K i 1500mg/[a]
1. 66m?LL £ ~1. 96m?K jis 1800mg/[a]
1.96m* LA £ 2100mg/[=]
7.5mg/kg 1BH

AN X7 T (i)

® S-1+BEV &%
13—X:21 B

THI=IV/XASVI/ATIINA) D LEER (RAR) 40~60mg/E 1H2E 2~15HE

AxmiE 1EA=
1. 25m’ K it 40mg/[a]
1.25m* Ll E~1.5 m*RiE 50mg/[E]
1.5m Lk 60mg/ 5]
AN X7 T (A 7. 5mg/kg 188
® CAPIRI+BEV &%
1a3—X:21 BME
HARIAEY (RR) 800mg,/m? 2~1582H
AxmiE 1EA=
1. 31K i 900mg/[al
1.31m Lk ~1. 69m?3k i 1200mg/[g]
1.69m2 LA _E~2. 07m? ki 1500mg/[=]
2.07m?LL E 1800mg/ 5]
200mg/m? 18BH

A7 Thy(Ri#E)



@ [IRIS+PANI &% (S-1+IRI+PANI) [RAS (KRAS/NRAS) /BRAF :E{zF+ Ep4EY)
13—X:28 HE

FHI=IV/XASUI/ATSVILAY D LEEHE (RIR) 40~60mg/[E
18B2@E 2~15HH

AERmEIE 1 [EAZ
1. 25m’ K it 40mg/[a]
1.25m* Ll E~1.5 m*RiE 50mg/[E]
1.5m Lk 60mg /5]
A1)/ THhy(EiE 100mg/m?> 1,15 HH
INZY LT T (HH) émg/kg 1,15 BB
CAPOX+CET &% [RAS (KRAS/NRAS) /BRAF EizF FHAER)
13—X:21 B/
HROAE D (AR 1000mg/m?/[@] 1 H 2 [q 2~15HH
AxmiE 1 [EfAZ
1. 36m’ K i 1200mg/[=]
1. 36m* LAk ~1. 66m’3k i 1500mg/[=]
1. 66m* LAk ~1. 96m’3k i 1800mg/[=]
1. 96m* Ll E 2100mg/[g]
XY TSFU(ERE 130mg,/m? 18H

YX T I (Ri#) 12—XH
400mg,/m? 1 BHHE
250mg,/m? 8,15 HE
2 2—XBUE
250mg,/m? 1,8,15 HH



© CAPOX+PANI &% (RAS (KRAS/NRAS) /BRAF i&{=F EF4ZY)

13—X:21 B

ARIEEY (HNR) 1000mg/m?/[m] 182@E 2~15HH

AXRMEIE 1 EAE
1. 36m’ K i 1200mg/ =]
1. 36m* LAk ~1. 66m’3k i 1500mg/[=]
1. 66m* LA E ~1. 96m’3k i 1800mg/[=]
1. 96m*LL E 2100mg/[g]
X4 TSF 2 (Hi#E  130mg/m? 18H
INZY LT T (HH) 6mg/kg 188

SOX+CET &% (RAS (KRAS/NRAS) /BRAF i&{=F EF4ZY)

13—X:21 B

FHI—=IV/XASUI/ATSVILAY D LEEHE (RIR) 40~60mg/[E]
182@E 2~15HH

AxmiE 1 EAE
1. 25m’ K it 40mg/[a]
1.25m* Ll E~1.5 m*RiE 50mg/[E]
1.5m Lk 60mg/ 5]
XY TSF 2 (ERE 130mg/m? 18H

YX T2 I (RiH) 12—XH
400mg,/m? 1HE
250mg,/m? 8,15 HH
2 2—XBLUE
250mg,/m? 1,8,15 HH



@ S-1+PANI % [RAS (KRAS/NRAS) /BRAF :&{zF+ Ep4EY)
1a3—X:14 BE

FHI—=IV/XASUI/ATSVILAY S LEEHE (RIR) 40~60mg/[E]
182Mm 2~8HE

AxmiE 1 EAE
1. 25m’ K it 40mg/[a]
1.25m* Ll E~1.5 m*RiE 50mg/[E]
1.5m Lk 60mg /5]
=Y L T (EE) 6mg/kg 188

@ FTD/TPI #&i&

1a20—X:28 HME
FUTILYDU/FESVIIVESSE] 35mg/m?/[g] 182[ME 1~5HB 8~12HH

ARmEE 1 BHEE

1. 07Tm? K i 35mg/[El
1.07Tm? LA £ ~1. 23m? K5 40mg/[@]

1. 23m?* L £ ~1. 38m? K i 45mg/[@]
1.38m? LA £ ~1. 53m? K i 50mg/[@]

1. 53m?* LA £ ~1. 69m?KR i 55mg/[@]

1. 69m? LA £ ~1. 84m? KR i 60mg/[a]

1. 84m? LA £ ~1. 99m?R i 65mg/[al

1. 99m? LA £ ~2. 15m? K5 70mg/[a]

2. 15m? LAk 75mg/[a]

@ FTD/TPI+BEV ik

120—X:28 HME
FUTILYDU/FESVIIVESSE] 35mg/m?/[g] 182[ME 1~5HB 8~12HH
AREE 1 BHAE
1. 07Tm? K i 35mg/[El
1.07Tm? LA £ ~1. 23m? R 5 40mg/[@]
1. 23m?* L £ ~1. 38m? K i 45mg/[@]
1.38m? LA £ ~1. 53m? K ik 50mg/[@]
1.53m?* Ll £ ~1. 69m?KR i 55mg/[@]
1. 69m? LU £ ~1. 84m? R i 60mg/[a]
1. 84m? LA £ ~1. 99m? R 5 65mg/[al
1. 99m? LA £ ~2. 15m? R i 70mg/[a]
2. 15m? LAk 75mg/[a]

RN X7 T (HE) 5mg/kg 1,15 88



REG &%
154428 AR
L3S 7z=7(RR) 160mg/[@ 18 1A 1~21 BH



CHIEEMNED] (B)
(firi @B EEE)
@ S-1 &%
14 —)L:42 AR

THI=W/FASVII/FTS5VILA) I LEEHI (MR 40~60mg/El 1H2E 1~28HAE

AREE 1 BHEE
1. 25m*R i 40mg /=]
1. 25m LA E~1.5 m*Ki& 50mg/[a]
1.5m* LAk 60mg/[a]
(EWEE)
@ S-1+CDDP #&i% [(HER2 :EI=F [21E)
1a3—X:35 B

THI=IW/FASVII/FATIVIA) D LEER (RAR) 40~60mg/El 1H2E 1~21HE

AFEmE 1 BRE

1. 25m’ K it 40mg/[a]

1. 25m?LL E~1.5 m* ki 50mg/[=]

1.5m? L E 60mg/[E]
VRTISF (R 60mg/m? 8HHE

@ Cape+CDDP #&;% (HER2 EinF fF2i4)

1a3—X:21 B
ARIAE Y (HR) 1000mg/m?/@ 1B 2@ 2~15H8H
ARmEE 1 EHE
1. 36m?k i 1200mg/[a]
1. 36m?LL_E ~1. 66m’*=k & 1500mg/[a]
1. 66m?LL_E~1. 96m*=k ik 1800mg/[al
2100mg/ =]

1.96m* Ll £

SRTSF V(AR 80mg,/m? 188



@ S-1+0HP &% (SOX) (HER2 ;Ef=F [214)
13—X:21 B

THIT=I/FAZVIN/FTIVILAY D LERERI(RNAR) 40~60mg/[El 1H2@E 2~15HE

AFzZmEE 1 ERAE
1. 25m’k i 40mg/[8]
1.25m* L £ ~1.5 mkif 50mg/[|]
1.5m? L E 60mg/[a]
xBTS F(E#E  100mg/m? 18H

@ Cape+OHP %% (Cape0X) [(HER2 BIzF [&EtE)
13—X:21 HfHE

ARTDEEY (RAR) 1000mg/m?/[@]l 1 H2@E 2~15HE

AREIR 1 BIAE

1. 36m* K i 1200mg/[=]

1. 36m* LA £ ~1. 66m° 3K i 1500mg/[E]

1. 66m* LA £ ~1. 96m* 5K i 1800mg/[E]

1.96m* Ll £ 2100mg/[E]
1HE

X9 ITSFo (AR 130mg/m?

® Cape+CDDP+T-mab &% (HER2 Ef=zF B4

13—X:21 BME
ARIEEY (FNR) 1000mg/m?/[a] 1B2ME 2~15HB
AEREE 1 ERE
1. 36m’ K i 1200mg/[|]
1. 36m2LL Lk ~1. 66m?k 5 1500mg/[=]
1. 66m2LL Lk ~1. 96m?k 75 1800mg/[=]
1. 96m* Ll E 2100mg/[g]
RIS F V(AR 80mg,/m? 188
FSRAYXT T (EHE) #[=E 8mg/kg 18H

2EBLE  6mg/kg 1HE



® Cape+OHP+T-mab #&i% (CapeOX+T-mab) [(HER2 s&{zF F&i4)

13—X:21 HfE
HROBE D (AR 1000mg/m?/@ 1H2[@E 2~158H

AERmEE 1 EAE

1. 36m’ K i 1200mg/[=]

1.36mLL L ~1. 66m’kiis 1500mg/[g]

1. 66mLL L ~1. 96m?k ity 1800mg/[g]

1. 96m* Ll E 2100mg/[g]
xBTS F(E#E  130mg/m? 18H
FSRYXT T (E# #E 8mg/kg 18H

2 @ LARE 6mg/ke 1HH

@ S-1+DTX &%
149—)L:21 B

THI=W/FASVII/FTS5VILA) D LEEHI (AR 40~60mg/El 1H2E 2~15HA

AxRmiE 1EA=s
1. 25m’ K it 40mg/[a]
1.25m* Ll E~1.5 m*RiE 50mg/[E]
1.5m Lk 60mg/ 5]

Kt 4 Ft)L (&iH) 40mg/m? 1HH

FTD/TPI #&i%

1a3—X:28 B
FUTILYDU/FESVIIVESSE] 35mg/m?/[g] 182[H 1~5HEB 8~12HH

ARmEE 1 BHEE

1. 07T K i 35mg/[El
1.07Tm? LA £ ~1. 23m? K5 40mg/[@]

1. 23m?* L £ ~1. 38m? K i 45mg/[@]
1.38m? LA £ ~1. 53m? K ik 50mg/[@]
1.53m?* Ll £ ~1. 69m?KR i 55mg/[@]

1. 69m? LU £ ~1. 84m? R i 60mg/[a]

1. 84m? LA £ ~1. 99m?R i 65mg/[al

1. 99m? LA £ ~2. 15m? K5 70mg/[a]

2.15m? Ll E 75mg/[a]



@ S1+0HP+T-mab % (SOX+T-mab) (HER2 :Ei=F &%)
1a2—X:21 B

THIT=I/FAZVIN/FTIVILAY D LERERI(RNAR) 40~60mg/[El 1H2@E 2~15HE

A=miE 1 EAE

1. 25m’k i 40mg/[8]

1.25m* L £ ~1.5 mkif 50mg/[|]

1.5m? L E 60mg/[a]
X)) TSF(RiE 100mg/m? 1BH
FSRYXT T (E# #E 8mg/kg 18H

2 @ LARE 6mg/ke 1HH



RS ARKREREH-Y DREE
THI=IW/XAZDIV/ATI VLA DLEREHI(S-1. TRTUERE)

AREIR 1 ERE
1. 25m2 K i 40mg/[E]
1. 25m LA E~1.5 m*Ki& 50mg/[=]
1.5m* LAk 60mg/[]
ARTAED (AR
AREIE 1 ERE
1. 31m?R 3% 900mg/[=]
1. 31 LL E~1. 64m?*K i 1200mg/[a]
1.64m? L L 1500mg/[a]
ARTHAED BR)
AREIE 1 ERE
1. 33m?kK i 1500mg/[=]
1. 33m? LA E~1. 5Tm? ki 1800mg/[a]
1.5Tm L E~1. 81m* ki 2100mg/[=]
1.81m?LL E 2400mg/[=]
ARTAED(CR)
AREIE 1 ERE
1. 36m*=K i 1200mg/[=]
1. 36m? LAk ~1. 66m’K i 1500mg/[a]
1. 66m?LL_E~1. 96m?k i 1800mg/[a]
1.96m?LL E 2100mg/[a]
A Y—27
AREE 1 BAEE
1. 07Tm?R 5 35mg/[=]
1.07Tm? A £ ~1. 23m? R it 40mg/ @]
1. 23m? LA £ ~1. 38m’ R it 45mg/[@]
1.38m? LA £ ~1. 53m? KR i 50mg/[E]
1.53m? LA £ ~1. 69m? R jifs 55mg/[E]
1. 69m2 LA £ ~1. 84m’ R jifs 60mg/[]
1. 84m2 LA £ ~1. 99m? R jifs 65mg/[a]
1.99m? LA £ ~2. 15m? 3R jifs 70mg /=]
2. 15m? LAk 75mg /]
THI=IW/ IS5V RER (A—T 7T 1BENTI/A—IT 7T« EREFEH)
ARmEE 1BRE
1.17 M Ri& 300mg/ B (4~AiT: 100mg/4#% : 100mg/#& & : 100mg)

1.1Tm Ll E~1. 49m? 400mg/ B (F8i1:200mg/ 4% : 100mg/ &[5 : 100mg)
1. 50m? LAk ~1. 83m? ki 500mg/ B (4~Hi1:200mg/4# : 200mg/ 7[5 : 100mg)
1.83m? LLE 600mg/ B (F8i1:200mg/41% : 200mg/7& & : 200mg)



